MAIIRCY

MARCY PRO
SMITH MACHINE
SM-4903

l} e 3

IMPORTANT: Please read the Important Safety Notice and Assembly Information in
the Owner’s manual before assembling this product.

Assembly Manual
200227




www.marcypro.com

O©IMPEX INC.



®x2 (%2 ®x2

©IMPEX INC. 2 WWw.marcypro.com



29X 2 G0X1 8DX1 82x1

©IMPEX INC. 3 Www.marcypro.com



©IMPEX INC. 4 WWw.marcypro.com



T

@)X 10 @)% 2

S Yl
68x 4

—.

%
69x 2

i
R T
X 50

%
@

©

62X133

LTI

©
©

X12

X
6D
63

JHIomIom

A ¥©

I ] TTD
x4 @Dx2 66X 96 67X 6

e 1 2 § 4 & & T 8 9 10 11 12 13 14 B 16 17 18 %9 W N 21

©IMPEX INC. 5 Www.marcypro.com



L

o0
o
X
<
o
—|
w

M10

www.marcypro.com

O©IMPEX INC.



Y

]
o
X
o=
o
=
<
L

M10

20

www.marcypro.com

O©IMPEX INC.



W 16 M10X3 §”

M10

16

16 03

® ©

www.marcypro.com

O©IMPEX INC.



&
I
o
X
™
)
—|
=
D

® @
oo
o
X
=
b—|
s

g3
M10

8
4

™

g 1”

www.marcypro.com

O©IMPEX INC.



10 M10X3 }”

M10

10

LN

nnnnnnnnnnnn

www.marcypro.com

10

O©IMPEX INC.



www.marcypro.com

11

O©IMPEX INC.



mmm 4 M10X2 %”

4 MI0X2 7%

£

|0
o
X
o
b |
=
<H

M10

_ | Am—r ' ;
f 3

o A

(F—
rs T
4

@
-
=

AT

K

T J\i

NV 7277
.I.__....l.‘_v L= /(%)
e a any =
@@.\”\\
By AN (=Y
] ..w ..__.m / %/
L/ @

www.marcypro.com

12

O©IMPEX INC.



2 Méx Y

1]

3% 4% Allen Wrench(Tool)

x... @Aﬂ)\@

e ‘Eaglﬂﬂa
= 2o F Sogs s 3 =
=

oooooooooooo

www.marcypro.com

13

O©IMPEX INC.



—

2

www.marcypro.com

!!!!!!!!!!!!!

’I ), f -
.’l. =
RS
155
aaaaaaaaaaaaaa T E —(E

.L\_.
NNy A p.
33, /

i

v
A
e

14

©IMPEX INC.



www.marcypro.com

4# Allen Wrench(Tool)

N
2 F i

...“nl..nqw z T/

15

O©IMPEX INC.



6 MIOX1 3"

2 MIOX2 3"

60 4
2 @3
@ ©

2 M10X2”
g 4 M10X2
22 0%

16

P

281.6"

=
-

M10

www.marcypro.com

16

O©IMPEX INC.



0 @ 4 T# Clip hook

www.marcypro.com

17

O©IMPEX INC.



©IMPEX INC. 18 Www.marcypro.com




www.marcypro.com

19

O©IMPEX INC.



M10

www.marcypro.com

20

O©IMPEX INC.



www.marcypro.com

21

O©IMPEX INC.



mm 6 M10X3 3”

6% Allen Wrench(Tool)

M10

www.marcypro.com

22

O©IMPEX INC.



1 Mi2X 6 %"

www.marcypro.com

23

O©IMPEX INC.



6# Allen Wrench(Tool)

©8 L

@O

www.marcypro.com

24

O©IMPEX INC.



M8 X 3”

M8X 1%~

03

l

h# Allen Wrench(Tool)

O©IMPEX INC.

25

www.marcypro.com




www.marcypro.com

26

O©IMPEX INC.



IMPEX® INC.
2801 S. Towne Ave. Pomona, CA 91766
Tel: (800) 999-8899
WWW.marcypro.com
support@impex-fitness.com

O©IMPEX INC.

27

www.marcypro.com



http://www.impex-fitness.com/

	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.

